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Exercise

1. If  = ,then find x

and y

[
3y − x −2x

3 7
] [

5 −2

3 7
]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xloY9MEKfyV4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2, 1

1, 2

2, 3

1, 3

2. If A =  and B = ,then 

 =

[
2 4

3 2
] [

1 4

−3 2
]

2A + 3B

https://dl.doubtnut.com/l/_xloY9MEKfyV4
https://dl.doubtnut.com/l/_sCRqxvzhEUs3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
7 20

−3 10
]

[
7 −20

−3 10
]

[
−7 20

−3 10
]

[
7 20

3 10
]

3. Find x if A =  is symmetric

matrix

⎡
⎢
⎣

2 3 −1

x −5 0

−1 0 7

⎤
⎥
⎦

https://dl.doubtnut.com/l/_sCRqxvzhEUs3
https://dl.doubtnut.com/l/_af5n8EnMXaHF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−3

3

2

−2

4. The number of all positive matrices of order

3 × 3 with each entry 0 or 1 is

https://dl.doubtnut.com/l/_af5n8EnMXaHF
https://dl.doubtnut.com/l/_JLYbhXge2AZY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

18

512

27

64

5. If A is  matrix and B is 

matrix,then the order of AB is

3 × 4 4 × 3

https://dl.doubtnut.com/l/_JLYbhXge2AZY
https://dl.doubtnut.com/l/_khXKy8e2ochA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 4

4 × 3

4 × 4

3 × 3

6. If A is a  matrix and B is a

 matrix AB is a ,then values of x and

y are

(x + 2) × (y − 3)

2 × 5 3 × 5

https://dl.doubtnut.com/l/_khXKy8e2ochA
https://dl.doubtnut.com/l/_02OdsMwyJt8I


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5, 1

2, 3

1, 5

3, 2

7. If  =  ,then  = ________

Watch Video Solution

[
4 3

x 5
] [

y 3

1 5
] x2 + y2

https://dl.doubtnut.com/l/_02OdsMwyJt8I
https://dl.doubtnut.com/l/_JQ9TKeUataue


8. If A is of order  and B is of order 

,then order of AB is __________

Watch Video Solution

3 × 4 4 × 2

9. If  is of order  and  is of order 

,then order of `(AB)' is _________

Watch Video Solution

A 3 × 2 B 3 × 4

https://dl.doubtnut.com/l/_JQ9TKeUataue
https://dl.doubtnut.com/l/_yVUWfP8f5a0e
https://dl.doubtnut.com/l/_4QnuC4ZD4Ve2


10. If A =  is skew

symmetric, then  = __________

Watch Video Solution

⎡
⎢
⎣

0 a 3

2 b + 2 −1

−3 1 0

⎤
⎥
⎦

2a + b

11. If A,B are symmetric matrices of the same

order,then  is _________

Watch Video Solution

AB − BA

https://dl.doubtnut.com/l/_e9yS38n6WWR7
https://dl.doubtnut.com/l/_5yg5ezP7gz70


12. Matrices A and B will be inverse of each

other if __________

Watch Video Solution

13. If A =  and B = ,then AB is

_______

Watch Video Solution

[1, 2, 3]
⎡
⎢
⎣

2

4

6

⎤
⎥
⎦

https://dl.doubtnut.com/l/_mK5ZhgVJPhvB
https://dl.doubtnut.com/l/_hBImSMp5tBpk


14. State True/False: If A is a symmetric matrix

,then A' = -A

Watch Video Solution

15. State True/False: Every rectangular matrix

can be expressed as sum of symmetric and

skew symmetric matrices.

Watch Video Solution

https://dl.doubtnut.com/l/_9Yi3nG7mK7vd
https://dl.doubtnut.com/l/_T5zC2m5niFXb


16. State True/False: If A is of order  and B

is of order ,then AB is of order .

Watch Video Solution

2 × 3

3 × 4 2 × 4

17. If ( ), prove that A-A' is a skew

symmetric matrix where (Â tau) denotes the

transpose of matrix A

Watch Video Solution

A = [
2 3

4 5
]

https://dl.doubtnut.com/l/_a3TbykJV6RvE
https://dl.doubtnut.com/l/_Y6TdbwoAcrld


18. IF , find a matrix B such

thet 

Watch Video Solution

(A = [
3 −4

−1 2
])

(AB = 1)

19. Construct a (2 times 2) matrix where (

)

Watch Video Solution

aij =
(i + (2)j)2

4

https://dl.doubtnut.com/l/_kArGCfkw9CvD
https://dl.doubtnut.com/l/_KZcGj6hj2tSr


20. If ( ), find K such that (

).

Watch Video Solution

A = [
3 −2

4 −2
]

A2 = KA − 2I2

21. Find x and y, if (

)

Watch Video Solution

2[
1 3

0 x
] + [

y 0

1 2
] = [

5 6

1 8
]

https://dl.doubtnut.com/l/_rSbSWVxn3jNT
https://dl.doubtnut.com/l/_VLBoylOum539


22. Show that the matrix B`AB) is symmetric or

skew symmetric according as A is symmetric or

skew symmetric.

Watch Video Solution

23. For the matrix ( ),

find ( ), where A' is the transpose

of matrix A.

Watch Video Solution

A =
⎡
⎢
⎣

−3 6 0

4 −5 8

0 −7 −2

⎤
⎥
⎦

(A − A' )
1

2

https://dl.doubtnut.com/l/_lieGdF0HEUtT
https://dl.doubtnut.com/l/_OLxjA4dc159g


24. Construct a  matrix where (

).

Watch Video Solution

(2 × 2)

aij =
3i − j

2

25. If  and , show

that .

Watch Video Solution

A = [
i 0

0 − i
] B = [

0 i

i 0
]

AB ≠ BA

26. Solve for x and y, ( )[
3 −4

1 2
][

x

y
] = [

3

11
]

https://dl.doubtnut.com/l/_8nZ4pPF2rs3N
https://dl.doubtnut.com/l/_yFJ69i7FfUyt
https://dl.doubtnut.com/l/_hKaXNsk8ZjO8


Watch Video Solution

27. If ( ), find x, (`0

Watch Video Solution

[
cos x sin x

−sin x cos x
]

28.  .

Watch Video Solution

=
1 + cos θ + sin θ

1 + cos θ − sin θ

1 + sin θ

cos θ

https://dl.doubtnut.com/l/_hKaXNsk8ZjO8
https://dl.doubtnut.com/l/_Cj7wE8Ykv5QN
https://dl.doubtnut.com/l/_KVCOvPmeTlb3


29. Write the element ( ) of ( ) matrix (

), whose elements ( ) are given by

( )

Watch Video Solution

a23 a3 × 3

A = (aij) aij

aij =
|i − j|

2

https://dl.doubtnut.com/l/_kAnYg48bkXPD

